Réknelagar, algebra.

En variabel:

(TI) X+0=X (T1) X.1=X (Identities)
(T2) X+1=1 (T2) X-0=0 (Null elements)
(T3) X+ X=X (T3) X-X=X (Idempotency)
(T4) (XY =X (Involution)
(T5) X+X'=1 (T5) X-X'=0 (Complements)

Tva eller tre variabler:

(T6) X+Y=Y+X (T6") X.Y=VY-X (Commutativity)
(T7) X+Y)+Z=X+(Y+2) (T7)  (X-Y)-Z=X-(Y-2) (Associativity)
(T8) XY+ XZ=X(Y+2) (T8) (X+Y)-(X+2)=X+Y-Z (Distributivity)
(T9) X+X.Y=X (T9) XX+Y)=X (Covering)

(TI0) X-Y+X-Y =X (T10) (X +Y)-(X +Y') = X (Combining)
(TI1) XY+ X'-Z+Y.Z=X-Y+X.Z (Consensus)

(T1) X+Y) X +2)(Y+2Z)=(X+Y)(X +2)

n variabler:
Y XEAE - FR=N (Generalized idempotency)
(T12) X:-X: - X=X
(T13)  (Xi-Xz- =+ X)) = X"+ X" + - + X,/ (DeMorgan’s theorems)
(.“3.«} X+ X+ 4+ X)) =X X" - X
(T14)  [F(X1, X250 Xy h, )] = FOX, X0 0 X0, 4) (Generalized DeMorgan’s theorem)
(T15)  F(X1,X2,...,%0) = Xi -F(1,Xa,.... Xp) + Xi"-F(0,Xa,..., X,1) (Shannon’s expansion theorems)

(T15")  F(X1,X2500 0, X0) = [X1 + F(O,Xz,.... X)) -[X1” + F(1,Xa,..., X))




